= =
7N E ) 8 = £ 5 =
No. 1
IiE-#E R g = RETHE| B k=
<tI>
50.6 + 64.7= 115.3 115. 115
RIE Y T, E% m3
24.8 + 29.7= 545 54. 55
HRL AL m3
115.3 - 54.5=  60.8 60. 61
THEERK DA 15. 5kmELF m3
60.8 60. 61
REETNRE fEL, RE m3
<$HET>
36.3 36. 36
REEREIE M-30 t=3cm m?2
27.90 + 29.00= 56.90 56. 57
RAET M-30 t=10cm m?2
BEFERMETAIVS 93.0 93. 93
== t=5cm m2
<EEMI>
30.5 30. 30.5
ShA e 18 18-8-40BB m
27.0 21. 21.0
ShA e 28 18-8-40BB m
1.0 1. 1
HKFEAIL-R 18-8-40BB =
<HUELI>
TA77 W MEEEE RR 3.00 * 2.0 = 6.0 6. 6
SRR U B t=15cmLLF m
TA77 W MEEEE AR 93.0 93. 93
EE t=15cmLLF m2
93.0% 0.05 = 465 4. 5
SOE K e FEIA . 11. 5kmLL T m3
4.7 4. 5
REH As m3




A T = £ i =
No. 2
TiE - #iH STAY = RETHE| H{ iE%
<REBEEBI>
19.0 19.0 19
XEFEZEEB A




I # it 2
_ _ _ _ No.
FEHE (L) KiE (R) HE L) HER)
B = XfEE | o m | F¥H | 2 B | HE|FY| L B mE|FEFYH| 1L B HmBa|FEH| L &
Wi BT Wr m ST M
No.0 1.80 2.70 0.80 1.20
+ 0.00
1.70 1.75 17.5 2.60 2.65 26.5 0.90 0.85 8.5 1.20 1.20 12.0
+ 10.00 10.00
1.60 1.65 16.5 2.10 2.35 235 0.80 0.85 8.5 1.00 1.10 11.0
+ 20.00 10.00
1.60 1.60 11.2 2.10 2.10 14.7 0.70 0.75 5.3 0.90 0.95 6.7
+ 27.00 7.00
1.60 0.70
+ 27.00 0.00
1.50 1.55 54 0.70 0.70 25
+ 30.50 3.50
+ 30.50 0.00
+ 31.00 0.50
31.0 50.6 64.7 248 29.7

op




T @m0 &
_ _ _ _ No
SR - KRB PR (L) K (R) TREEIE
B = X i 2B g | T | F R|BE|EYH| ¥ B|RBRE|FEFY|TFT BE|R®BE|FETH| F K&
e 8 B 8 e 8 w8
No.0 3.00 0.95 1.10 0.95
+ 0.00
3.00 3.00 30.0 0.95 0.95 9.5 1.10 1.10 11.0 0.95 0.95 9.5
+ 10.00 10.00
3.00 3.00 30.0 0.90 0.93 9.3 1.05 1.08 10.8 1.05 1.00 10.0
+ 20.00 10.00
3.00 3.00 21.0 0.85 0.88 6.2 1.00 1.03 7.2 1.15 1.10 7.7
+ 27.00 7.00
3.00 0.85 2.15
+ 27.00 0.00
3.00 3.00 10.5 0.80 0.83 2.9 2.20 2.18 7.6
+ 30.50 3.50
3.00 3.00
+ 30.50 0.00
3.00 3.00 1.5 3.00 3.00 1.5
+ 31.00 0.50
31.0 93.0 279 29.0 36.3
a5 &




BEhhEE 1R

10.0m4)
e K

300 .
18-8-40BB f
i
18-8-40BB “
EBaHY—F g

100 660820 100

T (726) )

% it =} = Bl % =
avyy-k 0300 + 0726 )/ 2 x 1066 x 10.000 = 5469 | m®| 55
18-8-40BB
pily 1066 + 1.066 X 1.077 )X 10.000 = 22141 | m*| 221
HpgEar 1) —k 0.200 X 0926 x 10.000 = 1852 |m°| 19
18-8-40BB
LRI B 0200 x 2 X 10.000 = 4000 | m*| 40
B #htR 0300 + 0726 )/ 2 x 1.066 = 0547 | m*| 05
HEEEBIE 0926 X 10 = 9260 | m*| 93




FEhpEEE 28

10.0m41)
iRV
g
18-8-40B8
2 BRIV
L?JL T80~300 L:ID.[

% it =} = Bl % =
avy)-+ 0300 + 0860 )/ 2 x 1.400 x 10.000 = 8120 | m®| 8.1
18-8-40BB
ity e 1400 + 1.400 x 1.077 )x 10.000 = 29078 | m*| 29.1
HpgEar 1) —k 0.200 X 1.060 x 10.000 = 2120 | m®| 21
18-8-40BB
LR R 0200 X 2 X 10.000 = 4000 | m*| 400
B #htk 0300 + 0.860 )/ 2 x 1.400 = 0812|m*| 08
HEEEBIE 1.060 x 10 = 10.600 | m*| 106




FAKRATL (L-R) 1.0st Y
2 R
600
8 :—.\_\  mEewm 12w
] \ 18-8-4088
#LG SD345 D13 L=300 N=3& €250 H__ /
D345 D13 1=600 N=14 8 Y
2HEew L250 .
. : ]
- //‘\\\ -
N ( 35 S L LN
: ~— FLNG SD345 DI3 1-300 N-3& 8250
1000 SD345 D13 L=600 N=1 K
XE#HEW-OLT, LANXT1BETCRAZ2@BET S
% Hi = = BHil % =
LAl
avy)-+ 0.210 0.350 )=2x 0.350 x 1.000 = 0098 | m®| 0.1
18-8-40BB
INEY
ity e 0.210 0.350 )=2x 0.350 x 2.000 = 0.196
0.350 1.000 = 0350
= 0546 | m?’| 05
BHEM 2.000 = 2000(f@| 20
L250
Z/ (D13) 0.300 3.000 x 0.995 / 1000 = 0.0009 | t | 0.001
E2fH (D13) 0.600 1000 X 0995 / 1000 = 0.0006 | t | 0.001
Rl
avh)-+ 0.210 0.350 )=+2x 0.350 x 1.000 = 0098 | m*| o1
18-8-40BB
INEY
iy e 0.210 0350 )=2x 0350 X 2.000 = 0196
0.350 1.000 = 0350
= 0546 | m?| 05
BHEM 1.000 = 1000 f@| 1.0
L250
Z/ (D13) 0.300 3.000 x 0.995 / 1000 = 0.0009 | t | 0.001
E2fH (D13) 0.600 1.000 X 0995 / 1000 = 0.0006 | t | 0.001




